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WEST BENGAL STATE UNIVERSITY 

B.Sc. General Part-II Examination, 2020 

MATHEMATICS 

PAPER: MTMG-II 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Answer Question No. 1 and any three from the rest 

১ নং pű এবং অন° �য-�কােনা িতনিট  pেűর উtর দাও 

1. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

2×4 = 8

(a) Write down the sub-sets at the set },,{ cba . 

},,{ cba -এর উপেসটgিল েলেখা। 

(b) Let BAf →:  and CBg →:  be two surjective mapping, then show that fg o  
is also surjective. 

BAf →: এবং CBg →:  dিট উপিরিচtন হেল েদখাও েয fg o  ও একিট উপিরিচtন। 

(c) If },,{,}2,1{ cbaYX == , find )()( XYYX ×∪× . 

যিদ },,{,}2,1{ cbaYX ==  হয়, তেব )()( XYYX ×∪×  িনণ�য় কেরা। 

(d) Does the limit }1{lim 2

1
−+

→
xx

x
 exist? — Justify. 

}1{lim 2

1
−+

→
xx

x
 সীমািটর অিst সmেক� িবচার কেরা। 

(e) State Rolle’s Theorem. 

েরােলর উপপাদ°িট িববৃত কেরা। 

(f) Show that xx <sin , for 20 π<< x . 

যিদ 20 π<< x  হয় তেব েদখাও েয xx <sin . 

(g) Show that ∫
∞

−

0

dxe x  is convergent. 

েদখাও েয ∫
∞

−

0

dxe x  অিভসারী। 
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(h) Evaluate ∫ ∫
1

0

2

0

3 dydxyx . 

∫ ∫
1

0

2

0

3 dydxyx -এর মান িনণ�য় কেরা। 

  

2.  (a) Give an example with verification of mapping which is neither injective nor 
surjective. 

এক-এক ও উপিরিচtন হেব না এমন একিট িচtেনর ব°াখ°াসহ উদাহরণ দাও। 

4

(b) Show that the mapping :f  ℝ ⟶ ℝ defined as ∈∀−= xxxf ,75)( ℝ is 
bijective. Find 1−f . 

:f  ℝ ⟶ ℝ িচtনিট এমনভােব সংjাত েয ∈∀−= xxxf ,75)( ℝ, েদখাও েয িচtনিট 

একিট এক-এক উপিরিচtন। 1−f  িচtনিট িনণ�য় কেরা। 

4

(c) Let },,1,1{ iiG −−= , show that G is a group under the usual multiplication of 
complex numbers. 

},,1,1{ iiG −−=  হেল েদখাও েয, জিটল সংখ°ার pচিলত gেণর সােপেk G একিট দল হেব। 

3

(d) Prove that intersection of two subgroups of a group G is also a subgroup of G. 

pমাণ কেরা েয একিট দল G-এর dিট উপদেলর েছদও G-এর একিট উপদল হেব। 

3

  
3.  (a) Let A be an invertible matrix. If λ  be one root of the characteristic equation of 

A, then prove that λ
1  is a root of the characteristic equation of 1−A . 

ধরা যাক A ম°াি¹েkর িবপরীত ম°াি¹েkর অিst বত�মান। A ম°াি¹েkর �বিশŶ° সমীকরেণর একিট 

বীজ λ  হেল pমাণ কেরা েয  1−A ম°াি¹েkর �বিশŶ° সমীকরেণর বীজ হেব λ
1 । 

4

(b) Verify Cayley-Hamilton theorem for the matrix 
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛
=

102
010
201

A .  

Hence find 1−A . 

⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛
=

102
010
201

A  ম°াি¹েkর েkেt Cayley-Hamilton theorem িটর সত°তা যাচাই কেরা। 

অতঃপর 1−A  িনণ�য় কেরা। 

3+3

(c) Show that the set )}0,2,0(,)0,2,1(),1,2,1{(=A  form a basis of the vector 
space ℝ3 over ℝ. Find also the co-ordinate of (2, 6, 1) w.r.t. to this basis. 

েদখাও েয )}0,2,0(,)0,2,1(),1,2,1{(=A েসটিট েভkর েদশ ℝ-এর উপর ℝ3 এর একিট 
িভিt গঠন কের। এই িভিtর সাহােয° (2, 6, 1) িবn ুর sানাì িনণ�য় কেরা। 

4
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4.  (a) Find the equation of the sphere through the circle ,9222 =++ zyx  
42 =−+ zyx  and the origin. 

মূলিবn ুগামী এবং 42,9222 =−+=++ zyxzyx  বৃtগামী েগালকিটর সমীকরণ িনণ�য় কেরা। 

3

(b) Find the equation of the plane through the point (2, 5, –8) and perpendicular to 
each of the planes 01432 =++− zyx  and 0624 =+−+ zyx . 

01432 =++− zyx এবং 0624 =+−+ zyx সমতল dিটর pেত°কিটর উপর লm এবং 
(2, 5, –8) িবn ুগামী সমতলিটর সমীকরণ িনণ�য় কেরা।  

4

(c) Find the equation of the straight line passing through the point (1, 2, 3) and 
parallel to the line 342

zyx == . 

এমন একিট সরলেরখা িনণ�য় কেরা যা (1, 2, 3) িবn ুগামী এবং 342
zyx ==  সরলেরখার সমাnরাল। 

3

(d) Show that the straight lines 
5

3
3

1
4

2 −=+=− zyx  and 

11220932 −+−==−++ zyxzyx  are coplanar. 

েদখাও েয 
5

3
3

1
4

2 −=+=− zyx
 এবং 11220932 −+−==−++ zyxzyx  সরলেরখা 

dিট একই সমতেল অবিsত। 

4

  

5.  (a) Find the value of ⎟
⎠
⎞

⎜
⎝
⎛ −

→ xxx 220 sin
11lim . 

মান িনণ�য় কেরাঃ ⎟
⎠
⎞

⎜
⎝
⎛ −

→ xxx 220 sin
11lim । 

3

(b) Prove that a convergent sequence is bounded. 

pমাণ কেরা েয অিভসারী অনুkম বd। 

3

(c) Show that 
x

x
x

x
sin

tan > , when 20 π<< x . 

েদখাও েয 
x

x
x

x
sin

tan >  ,যখন 20 π<< x  । 

4

(d) State and prove Cauchy’s Mean Value Theorem. 

Cauchy Mean Value Theorem িববৃত কের pমাণ কেরা। 

4

  

6.  (a) Test the convergence of 0,
2
1 1

3

3
>

+
+∑ − xx

n
n n . 

0,
2
1 1

3

3
>

+
+∑ − xx

n
n n  েËণীিটর অিভসারীt পরীkা কেরা। 

3

(b) Find the asymptotes of the curve 
t

ty
t

tx
+
+=

+
=

1
2,

1

2

3

2
. 

t
ty

t
tx

+
+=

+
=

1
2,

1

2

3

2
 বk েরখািটর sশ� pবণ সরলেরখািট িনণ�য় কেরা। 

4



B.Sc./Part-II/Gen./MTMG-II/2020 

2099 4

(c) Find the area bounded by the parabola xy =2  and its latus rectum. 

xy =2  অিধবৃt এবং এর নািভলm dারা সীমাবd েkেtর েktফল িনণ�য় কেরা। 

3

(d) Prove that )0,(;cossin2),(
2

0

1212 >= ∫ −− nmdnm nm
π

θθθβ  and hence find the 

value of )( 2
1,2

1β . 

pমাণ কেরা )0,(;cossin2),(
2

0

1212 >= ∫ −− nmdnm nm
π

θθθβ  এবং এর েথেক 

)( 2
1,2

1β  এর মান িনণ�য় কেরা। 

4

  

7.  (a) Solve: xxy
dx

yd 2cos242

2
=+ . 

সমাধান কেরাঃ xxy
dx

yd 2cos242

2
=+ । 

3

(b) Solve: 1)0(,1)0(,1222

2
=′=+=+ yyxex

dx
dy

dx
yd x . 

সমাধান কেরাঃ 1)0(,1)0(,1222

2
=′=+=+ yyxex

dx
dy

dx
yd x । 

4

(c) Solve: ( )xxy
dx

ydx
dx

ydx 11022 2

2
2

3

3
3 +=++ . 

সমাধান কেরাঃ ( )xxy
dx

ydx
dx

ydx 11022 2

2
2

3

3
3 +=++ । 

4

(d) Find the equation of the curve whose slope at the point ),( yx  is )21( x+ . 
Determine the nature of the curve. 

েয বkিট ),( yx  িবn ুেত নিত )21( x+  তার সমীকরণ িনণ�য় কেরা। বkিটর pkিত িনণ�য় কেরা। 

3

 
 

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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